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ABO Advanced Exam Review 
Domain I Part 1

NFOS presentation

Conflict of interest

 The speaker, Dr. Aarlan Aceto, OD, has not conflicts of 
interest to disclose.   

NFOS

Review Course Topics

 ABOAC Blueprint
 Analyze & Interpret Prescription 
 Design, Fit & Dispense Eyewear and Other Ophthalmic 

Devices 
 Use Ophthalmic Instrumentation  

Exam Makeup

 125 Multiple Choice Questions
 Analyze & Interpret Prescription (38%)
 Design, Sell, Fit & Dispense (39%)
 Use Ophthalmic Equipment (23%)

 Three Hours to Complete
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ABO Masters Program

 The ABO Master in Ophthalmic Optics designation 
demonstrates to the public and colleagues that an 
individual has attained a superior level in ophthalmic 
dispensing.

 Any Optician who is currently Advanced Certified by the 
American Board of Opticianry for at least one complete 
three-year renewal cycle, and satisfies one of three 
additional qualifications is eligible to apply for this 
designation. 

ABO Masters Program

 Have written two published ABO-approved Advanced Level III 
articles

OR

 An ABO-approved speaker with two ABO-approved Advanced 
Level III Courses, or

OR

 Have one published ABO-approved Advanced Level III article 
AND one ABO- approved Advanced Level III Course for 
which you are the ABO-approved Speaker.

Analyze and Interpret Visual 
Assessment

Part 1

Domain 1 Tasks

 Analyze customer’s/patient’s prescription
 Recognize limitations of the prescription
 Assess medical abnormalities of the customer’s/patient’s 

vision

Prescription AnalysisPrescription Analysis Refractive Errors
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Refractive Errors

Refractive Errors

Refractive Errors
 Spherical Rx:

 Simple Hyperopia
 Simple Myopia

 Spherocylindrical
 Simple Hyperopic Astig Plano / +
 Simple Myopic Astig Plano/ -

 Compound Hyperopic Astig + / +
 Compound Myopic Astig - / -
 Mixed Astigmatism + / -

Flat Transposition

1. Add sph + cyl (algebraically)
2. Change SIGN of cyl power
3. Change Axis 90 Degrees
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 Word  HOMEWORK to demonstrate lens 
cross/interactive

PrismPrism

 Measurement
 Patient Problems

 Base Down
 Base Up
 Base In or Out

 Decentration to obtain prism
 Slab Off
 Image Jump

Prism: Patient ProblemsPrism: Patient Problems

 Excessive Base Down:
 Bottom of bowl
 Floor looks concave
 Looking Walking UP hill
 Objects TALLER/looking up at objects

 Excessive Base Up: 
 Top of ball/mound
 Floor is convex
 Walking downhill
 Objects SHORTER/ looking down at objects
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Prism MeasurementsPrism Measurements

 One prism diopter =  Deviate light by 1 cm over 1 M

 Think triangles 

Prism MeasurementsPrism Measurements

 One prism diopter =  Deviate light by 1 cm over 1 M

 Think triangles 

1 M

1 cm
2 cm

2 M

1 ∆

Prism MeasurementsPrism Measurements

 One prism diopter =  Deviate light by 1 cm over 1 M
 Think triangles 
 So if NOT 1 PD

1 M

3 cm
6 cm

2 M

3 ∆

Prism at diff distances

 Think of the Prism amount as HOW many cm light will 
deviate at 1M

 4

Prism MeasurementsPrism Measurements

 One prism diopter =  Deviate light by 1 cm over 1 M
 Think triangles 
 So if NOT 1 PD

1 M

2 cm
4 cm

2 M

2 ∆ 0.5M

? cm

 So simply put your Prism diopters in a Fraction form 
(over 1)

 3 ∆ = 3/1  

 That is essentially your fraction/ or ratio. (3mm/1M)

 If a question asks how much is deviated:
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 3 PD = 3/1  

 That is essentially your fraction/ or ratio. (3mm/1M)

So if a question asks how much does a prism devate light at 2M?

 Either FORMULA to make equal to 3/1   
OR 
 draw a Triangle

ON Board

How much does a 3 ∆ deviate light at:

1 M      
2 M
3 M

0.5M 

= 3cm

= 6cm

= 9cm

= 1.5 cm

Prentice’s RulePrentice’s Rule
 The prismatic effect of a lens on rays of light that pass 

through it at points other than it’s optical center is equal 
to the product of the the dioptric power of the lens and 
the distance in centimeters from the optical center to the 
point of passage.

∆     = dP

 ∆ = prismatic effect
 P = Lens BVP (in D) 
 d = distance from OC (in cm)

Examples

I prefer working in mm, as more common, do not have to 
convert from mm to cm

 ∆  = P x d /10

 Prism = Power of lens (BVP) * decentraion (in mm) /10

Horizontal PrismHorizontal Prism
 Decentration to obtain prism: 
A NON-ASPHERIC stock SV lens may be decentered to 
obtain prescribed prism.  

Using Prentice’s formula

Horizontal PrismHorizontal Prism

Or Use the following formula to determine decentration:

d  =  ∆ /P * 10

d = decentration (in mm)
P= power of lens in meridian you’re looking for
∆= amount of prism we’re looking to induce
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Power at 180 and 90

 When Determining prism
 horizontal prism, need to know power at 180
 Vertical prism, need to know power at 090

 Easy if rx axis is 180 or 90, BUT if other than those, can use 
FORMULA or RULE OF THUMB

Power at 180 and 90

 Formula

 Power at 180 = SPH + ((sin axis)2 * cyl power)

 Power at 090 = SPH + (cos(axis) 2 * Cyl power)

Power at 180 and 90

 What is the power at 180 and 90 for following Rxs:

-3.00 -1.00 x 045
-3.00 -1.00 x 030
-3.00 -1.00 x 060

Power at 180 = SPH + ((sin axis)2 * cyl power)
Power at 090 = SPH + (cos(axis) 2 * Cyl power)

Prism ProblemsPrism Problems

SPHERE power is in ENTIRE lens
Cyl power is based upon how far away from rx cyl axis:

at rx axis or 0 degrees away = 0%

30 degrees   = 25%
45 degrees   = 50%
60 degrees   = 75%

90 degrees   = 100%  of Cyl

 Slab Off

1. Find Power at 90 for both eyes
2. Find “drop” (how much do the eyes move down from 

Dist to Near VERTICALLY)
3. Use prentices rule to determine Prism induced in each 

eye
4. Find difference, and that is amount of slab off to order 

at near

 Slab Off
OD -4.00 -2.00 x 180
OS  -2.50 -0.50 x 180         +2.50 Add OU

ST 28 bifocal
Looking 4 mm above seg at dist
Looking 5 mm below seg while reading 
Total 9mm drop

OD:  Power at 90=-6.00    Drop = 9mm  prism = 5.4 
OS: Power at 90 = -3.00    Drop = 9mm   prism = 2.7

Difference = 2.7 Prism diopters…will require that much Slab off 
in OD to eliminate vertical imbalance

37 38

39 40

41 42



3/23/2022

8

 Slab Off

Note…can also take DIFFERENCE in dist power at 90 
between OD and OS and multiply by amount eye drops 
vertically and will come up with same difference (as long as 
ADDs are similar)

More complex than this, any axis other than 90 or 180, esp high 
cyls with Oblique axes can create “Torsional” prism…

Beyond scope of this review
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Examples

 Make sure you understand Oblique Axes

 Power at 90 and or 180

 ANSI standards (vertical and horizontal)
 Prims (induced/decentered)
 Slab off

 find diff in vertical meridian/90 OD vs OS
 Find diff vertical 
 Use prentices rule to find amount of prism

More examples  (time permitting)

HW and handouts to share

49 50

51 52


